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Q.1. Solve these word problems.

	 a.	 There are 256 brown rabbits and 50 white rabbits. How many total 		
		  rabbits are there in the jungle?

H T O
 

	 	 Ans. There are total ______ rabbits in the jungle.

	 b.	 There were 342 bulbuls and 278 canaries in the park. How many birds 	
		  are there in the park? 

H T O

		  Ans. There are total ______ birds in the park.
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2 2.2 - Addition

	 c.	 A pie shop sold 230 pies on Sunday, 147 pies on Monday, and 98 pies 	
		  on Tuesday. How many pies were sold in three days?

H T O

		  Ans. Total ________ pies were sold in three days.

Q.2. Frame a word problem using the below given addition fact and solve 	

	 it.

	 153 + 132

	 Problem:______________________________		 Solution:

	 ______________________________________

	 ______________________________________

	 ______________________________________

	 Ans. __________________________________

Q.3. Solve these problems.

	 a.	 Niraj sold 577 kilograms of wheat and 342 kg kilograms of rice. About 	
		  how many bags of grains did he sell in all? (Estimate the sum to the 	
		  nearest hundred.)
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	 b.	 In a zoo, there are 87 mammals, 148 reptiles, and 93 amphibians. 		
		  About how many animals are there in the zoo in all?  (Estimate the sum 	
		  to the nearest tens.)

Q.4. Tick the correct option.  

	 a.	 Sum of 276 + 522 is _____________.
		  i.	 708	    	 ii. 798	 	 iii. 808	 	 iv. 898	

	 b.	 Which digit from the given options should replace the * to make the 	
		  given statement true?
		  535 + 1*5 = 700 
     		  i.	 5	 	 ii. 7	 	 iii. 6	 	 iv. 8	  

	 c.	 ___________ add up to a sum greater than 900. 

		  i.	 450 and 345	 	 ii.	 899 and 1	   

		  iii.	899 and 2	 	 iv. 890 and 10	  

	 d.	 The estimated sum of 494 and 349 is _______________.

		  i.	 900	 	 ii. 800	 	 iii. 700	 	 iv. 600	
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	 e.	 A word problem for the statement 200 + 100 will be –  

		  i.	 Manjusha has 200 vanilla cupcakes and 100 almond cupcakes. How 	

			   many more cupcakes does she have?	

		  ii.	 Manjusha has 200 vanilla cupcakes and 100 almond cupcakes. How 	

			   many less cupcakes does she have?	

		  iii. Manjusha has 200 vanilla cupcakes and 100 almond cupcakes. How 	

			   many cupcakes does she have in all?	

		  iv.	Manjusha has 200 vanilla cupcakes and 100 almond cupcakes. How 	

			   many times cupcakes does she have?	

Teacher’s remark: ________________________________________________


